29 [ >
630 =

D2

R1

R11

U2 NC
LT
VIN [ . vee
H o o
& 9 olio|<t|on] 9 ‘ 2
104P 9 % 104P - > g4pfolo OlO SO HOLD
g =
2 c4 3 SCK
N~ [{e] (Yol S [32] (=] (o)) (ee] [t (=] [Fol 5o (s2]
n [Ye) (Yol |¥o] Yol (Yol [Vl Vo) Anu Al A gl Ao u Aol Ao A g 4 GND SI
- = OO0 =DmAdd—Ad—"ddd10O0O
[} HZ>0>000000 0 = =
e o 1 24128
C5 105P —1NC > wooowwwp|o7—a7— —
2 SSSS R6 E
\\H $10vDD 599 I RMTAPI06 —42— 22—
— USBDP 8333 8M7PI05 41— < T 7
c11 —5 USBDN ROWS/GP 104 20 —2=——
Sf=—&{GPI017/C0L8 ROWA/GP103 a2 —25——
(38 RZ
i5—7716P1018/C0L9 " ROW3/GP102 3B
&1 GP1019/COL10 VPP 1 |vPP "
Co—5 6P1020/COL11 ROW2/GPI01 (36— —
So—1o] GP1021/C0L12 ROW1/GP100 —38—5— 15p
C1e 117 6P1022/C0L13 Ne 32~ ILci =
GP1023/COL14, o RFN 1r
C13 12 =S [ 32
S5 6P102Z/COLLE S NC
ciorro2loo8s L w N ANTPCB2
IR S 2R E=32 S N5k
= O == oo — O O O <C <C W <T
%&’;%%%%2292;28 =
YC1026
g™~ o] 9 1] yg ©
qr -] ISR KSR RIN p—
—{1] B ”
- 1 |ICE
Bl
VIN é (8] ROW2 —t R0
) O ROW4 ¢ r—24
coLL |+ = gg
\_105P XY1 COL3 | 5]
-1 COL2 ¢
e o7 24MHz coLa (éi ig
104pP |:| COLO00 5
6 COL5 |+ = ig
L cl4 COL7 —% C7 15
N = = = 5p 5.6P CoL8 |1 o
C15 COL6 [ S
RO U COL15 14
—{ORINC—— — — COoL9 |+ ——13
- i coL13 ¢ = ﬁ
COL10 |+ STEET)
COL14 —% C1d 9
COL12 —% W
coL1l ¢ =
ROWS —= Z
VIN ROW3
||« VIN ] ROW?7 | sg Z
K =N ROWO RO 3
BAT ROWE R6
N ™ ROW1 % RL
o[ —IL 2 =
$522001 VBAT ] VBAT

GND H \\‘




